tEEEHTUTEE] gremz
N)21—TS5oDEESFE

20255 9A%y MHEEBEERBREMOFHMSE MRS LRIST—

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

ouji
cu

R BESHAREM=)RMBERAREM+QBEI=/\— )L —E BB EM+Q)HE H A B E

+OBRENHERIVEE = Fd ~4.58|F/kWh
(1) PR¥ B SR Bl = (39 PR 4HEAE — 80,800 ) x B Bfi+1,000 = ~7.35|M/kWh
202554 F ~202556 A F D E BifEHERE
A: 1kiBT=Y OF 1 RH 68,774 M a: 0.1874 EAEEH 0173 A
B: 1tdh1=Y DFHILNGIEE 86,945 [ B: 0.0899
C: 1th=YDTHH xiftE 17,505 [ Y 1.0036

T REMER = Axa +BXfB8 +Cxy = 38300 H (100K FMIERAN)

(2) BES A= /\—H )L —E XA = (B S T 198l A& —79,300) x HEEHffi+1,000 = -0.01|M/kWh
202554 F ~202556 A F DB BifEHESE

A: 1kiBp =Y OF R H i 68,774 M a: 1.0000 EAEEH 0.001 M
B: 1tdh1=Y DFHLNGIEE 86,945 M B: 0.0000

C: 1tHI=YDFEHYHRMHE 17,505 M 7! 0.0000

HMETHREER=AXa + Bx B + CxX ¥ = 68,800 M (100MKXFHEBEREAN)

Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 1.68]/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 16.18 BADIYTTSAAEHIE 13.55
B: ZJCIfEEEAEBIE (Fiik) 8.00 |RER 7.9%
C: BANEREEEZE B ff (Fiik) 14.00 RER 110%
D: MEIE 70%
4) FENHEEIBE 1.10|H/kWh

Lk



RABATUTEE] gremz
N)21—TS5oDEESFE

20255 9A%y MHEEBEERBREMOFHMSE MRS LRIST—

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

i
cu

R BESHAREM=)RMBERAREM+QBEI=/\— )L —E BB EM+Q)HE H A B E

+OBRENHERIVEE = Fd -6.59|F1/kWh
(1) PR B SR Bl = (39 PR FHEAE — 83,500/ ) x BB fi+1,000 = ~8.63|F/kWh
202554 F ~202556 A F D E BifEHERE
A: 1kiBT=Y OF 1 RH 68,774 M a: 0.0259 EAEEH 0.197 M
B: 1tdh1=Y DFHILNGIEE 86,945 [ B: 0.2563
C: 1tHI-YDFEYH R MHE 17,505 M 7! 0.8915

T REMER = Axa +BXB8 +Cxy = 39700 H (100K FMIERAN)

(2) BES A= /\—H )L —E XA = (B S T 198l A& —79,300) x HEEHffi+1,000 = -0.01|M/kWh
202554 F ~202556 A F DB BifEHESE

A: 1kiBp =Y OF R H i 68,774 M a: 1.0000 EAEEH 0.001 M
B: 1tdh1=Y DFHLNGIEE 86,945 M B: 0.0000

C: 1tHI=YDFEHYHRMHE 17,505 M 7! 0.0000

HMETHREER=AXa + Bx B + CxX ¥ = 68,800 M (100MKXFHEBEREAN)

Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 0.95]F4/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 15.23 BADIYTTSAAEHIE 12.67
B: EICEREEAEER (Fitk) 7.00 |RER 8.5%
C: BANEREEEZE B ff (Fiik) 14.00 RER 110%
D: MEIE 70%
4) FENHEEIBE 1.10|H/kWh

Lk



RRENTV7ZUEEXE]

N)a1—TS0DEESE

2025% 9RA%LS MPEEFFRBEMOIFHMSHE

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

grema

BT LR/NT—

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

i

R BESHAREM=)RMBERAREM+QBEI=/\— )L —E BB EM+Q)HE H A B E

+@OBRERHEHIBEE = FiA -5.16|M/kWh
(1) BR{ B SR Bl = (TRl —86,100M) x EAEB{H 1,000 = -7.50]F1/kWh
202554 H ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR im il 68,774 M a 0.0048 HAEE(H 0.183 {
B: 1t&H71=Y D FEHLNGIHE#%E 86,945 M 0.3827
C: 1tHI=YDEHR RME 17,505 M Y 0.6584
T REMER = Axa +BXB8 +CXxy = 45100 H (100K FMIERAN)
(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh
2025548 ~2025%6 A FHDE S EHEE
A: 1KIBHT=Y DR Ml 68,774 M a 0.0000 B 0.000 M
B: 1t&H71=Y D FEHLNGIE#%E 86,945 M 0.0000
C: 1tHhi=YDEHR R 17,505 M ¥ 0.0000
BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)
Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 1.24]M/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 15.61 BADIYTTSAAEHIE 13.21
B: ZJCIfEEEAEBIE (Fiik) 7.00 |RER 6.9%
C: BANEREEEZE B ff (Fiik) 14.00 RER 110%
D: MEIE 70%
4) FENHEEIBE 1.10|H/kWh

Lk




FEEATVT7EE] gremz
N)21—TS5oDEESFE

20255 9A%y MHEEBEERBREMOFHMSE MRS LRIST—

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

i
cu

R BESHAREM=)RMBERAREM+QBEI=/\— )L —E BB EM+Q)HE H A B E

+OBRENHERIVEE = Fd 3.78 |F:l/kWh
(1) PR B AR Bl = RO AEHEE —45,900M) x EEEE(Hi 1,000 = 1.19]F/kWh
202554 F ~202556 A F D E BifEHERE
A: 1kiBT=Y OF 1 RH 68,774 M a: 0.0275 EAEEH 0.233 [
B: 1tdh1=Y DFHILNGIEE 86,945 [ B: 0.4792
C: 1tHI-YDFEYH R MHE 17,505 M 7! 0.4275

FEHREMER = Axa +BXB8 +CXxy = 51,000 (100K FMIERAN)

(2) BB A= /N—H LY —E XA EM= (B & TR EHEE —0M) x BE#Ei{fi—1,000 = 0.00]F/kWh

2025548 ~2025%6 A FHDE S EHEE

A: 1KIBHT=Y DR Ml 68,774 M a: 0.0000 B 0.000 M
B: 1t#H1=Y®DEHLNGIE 86,945 M B : 0.0000
C: 1tHhi=YDEHR R 17,505 M Y 0.0000

BETMREMER=AXa +BxB8 +Cxyr=0H (100K FMIERAN)

Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh

A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 1.49)F/kWh

A: BTADIVTTSARAEHE-(1-48KE) < ARE 14.93 BADIYTTSAAEHIE 12.61
B: EICEREEAEER (Fitk) 5.00 |RER 7.1%
C: BANEREEEZE B ff (Fiik) 13.00 RER 110%
D: MEIE 70%

4) FENHEEIBE 1.10|H/kWh

Lk



EEEHTY 7 EE]
Y 1—TF5oDEEEE

2025%F 985 MEEFHBREMOSMLE HREH T LRIST—

TRIIEAOSBEEBY . EEALBLEFET,
B OBSHRITSETNIMHBSHREME, TROBYSHOELET,

MU T, BUF RIS K BIESIE (EEDEFSFITHIA2.4M/kWh) ZHR M B FREHE M S
E5IETHDTIHGL AIEBICTESIZZITHhE TWVEEFT,

=111}
cu

M ESAREBH=)RN B R+ QS 1=/ \—4 )Y —E R R B + (3)ENE H F R HE

+@HEENHERIBE = FA -6.45|/kWh
(1) R B SR B il = (E 9 RARHEHE —79,800M) x EAEB{H 1,000 = -8.02|F/kWh
2025548 ~2025%6 A FH D & H i sHilit&
A 1KY O REHE 68,774 M a: 0.0415 (i 0.165 M
B: 1t&H7=Y DFHLNGIHE# 86,945 M B: 0.0745
C: 1H=YDFEHYR R 17,505 M Y 1.2499

TEHEREMER = Axa +Bx8 +Cxy = 31,200 M (100MKFMIEREA)

(2) BB A= /N\—H )L Y —E RFF R Ef = (3 & F M EHEE —0M) x B#EH{H+1,000 = 0.00|F/kWh

202554 A ~2025%6 A D E 5 K EHEHE
A: 1KBHT=Y DT RBIEE 68,774 A o 0.0000 HAEBR 0.000 M
B: 1tH=Y DT HLNGlHE 86,945 M B: 0.0000
C: 1tHYDFHR XM 17,505 H T 0.0000

BETHREMER=AXxa + BxB8 +Cxr=0H (100K HmmIERA)

Q) HENFAREM=A<BDIGHE. HENFZHEM=(A—B)XDx(1+HEHRE) = 0.00]F4/kWh

ASCOGE . HBENREBHEM=(A—C)XxDx(1+HEMREK) = 0.47|F/kWh

A: BTADITUTTSAREHE-(1HBLER) x FER 13.61 BMADOIY7TSAREH(E 11.41
B: EJTiEEEEEM (Fik) 5.00 Bk 7.8%
C: BANFREERAE B (Fiik) 13.00 TREEE 110%
D: BEIE 70%

4) FENHEEIEE 1.10| = /kWh

ULt



BEFEEATUTEE] gremz
NJa—TSODEESE
20254 9H% WMEEEFHREBEMOBIHLE BRI LRINT—

TRILEAOSBEREBY . EHEALALETET,
BHOBRHSCEFNIMHBSHEREE, TROBYSMSELET,

KA, B XERICLBIESIE (EEDHFIFIIFHIA2.4M/kWh) A8 & FRE B, S
[E5IET 2D TIEILL HEBICTESIZZTHETWEEET,

anj
cu

M BEERBEE=)RNEAREE+QBE L=/ —Y /LY —ERRBEM+QHNE HRBEM

+AOBFERHEREE= BN 15kWhET FiiA 65.13 M
Eest Bisa 4.34 M/kWh
(1) WR¥ B R B B il = (SE R BHEIHE —27,100M) x 2B {fi-1,000 = RED15kWhET 41.58|M
202544 A ~2025%6 A FH D E S aHEE EELs 2.77| R /kWh
A: 1kiBp =Y OF R im 68,774 M a: 0.0140
B: 1t =Y DFHLNGIEE 86,945 M B: 0.3483 ~ 15kWhE £ B {ffy 2475 M
C: 1tH=Y DFH Mg 17,505 M 7 0.7227 16kWh~ £ 4 B iff 0.165 M

TR EMER = AXa +BXB +CXy = 43900 M (100 RFEM@BAAN)

(2) B —/\—H LY —E RFEE = (3 ST HREHEE —0M) x EHEBH 1,000 = 0.00|F4/kWh

202554 H ~2025%6 A FH D B 5 sHmE
A: 1kIHT=Y O FE R hMEE 68,774 M o: 0.0000 HAEHR 0.000 M
B: 1tdHh1=UDEHLNGHE 86,945 M B: 0.0000
C: 1tH=YDEHRXME 17,505 H 7 0.0000

EHETHBE@fKR=AXxao +BxB8 +Cxryr=0H (100MRFEMEER A)

Q) HEHFEEM=A<BDIGFE. HENFAEEM=(A—B)XxDx(1+HEHRE) = 0.00|F4/kWh

A>COIBE . HEHARBEM=(A—C)XxDx(1+HERHRE) = 0.47|M/kWh

A: BITADIVTISAREHE-(1-BLE) < HRE 13.61 BADIUTISAREHE 11.41
B: EJCIAEEEAEEM (Fitk) 5.00 JRE 7.8%
C: EBmmEAEEALERM (k) 13.00 RER 110%
D: BEZE 70%

@) REflEeBa1BEE 1.10]F4/kWh

LE



FEEATVTHEE]
NJ1—TZUDEESFE

20254 9H% WMEEEFHREBEMOBIHLE

TRILEAOSBEREBY . EHEALALETET,
BHOBRHSCEFNIMHBSHEREE, TROBYSMSELET,

KA, B XERICLBIESIE (EEDHFIFIIFHIA2.4M/kWh) A8 & FRE B, S
[E5IET 2D TIEILL HEBICTESIZZTHETWEEET,

b=101}
cu

EICINZ

BRI LRNT—

M BEERBEE=)RNEAREE+QBE L=/ —Y /LY —ERRBEM+QHNE HRBEM

+AOBFERHEREE= BN 15kWhET FiiA -138.76 M
Eest Bisa -9.23 M/kWh
(1) WR¥4 2 BRI 22 B i = (SE 99 BHEI#E —80,300M) x E#EH{fi--1,000 = RED15kWhET -152.56|M
202544 B ~202546 B F 0 B S aHEE £ -10.15|F4/kWh
A: 1kiBp =Y OF R im 68,774 M o 0.0406
B: 1t =Y DFHLNGIEE 86,945 M 0.0992 ~ 15kWhE £ B {ffy 3.185 M
C: 1th=YD TR HimE 17,505 [ 7 1.1994 16kWh~ £ 4 B iff 0.212 M
EHAEMERE = Axa +BxB +Cxy =32400H  (100MFKEMEIEHEA)

| EEEDERFIDI5kWhET

(2) BB —/\—H LY —E RFI B = (3 & F A EHE 4% —79,300) x EL#E B fifi +1,000

-0.18

202554 F ~2025%6 A FHDE S HEE -0.01

F/kWh
F/kWh

A: 1kIBHT=Y D FHE R 68,774 M 1 1.0000 1 FERM EE LIS
B: 1t&Hh1=YDFEHLNGIEHE 86,945 M 0.0000 ~15kWhEZE BS 0017 M
C: tH-YDFHRERMIE 17,505 M Y 0.0000 16kWh ~ £ £ B {f 0.001 M
EHETEHBREMEKR=Axa +Bx 8 + Cx ¥y = 68,800 (100MRFEMEER A)
Q) HEHFEEM=A<BDIGFE. HENFAEEM=(A—B)XxDx(1+HEHRE) = 0.00|F4/kWh
A>COGE. HENREEM=(A—C)xDx(1+HEREK) = 0.00F4/kWh
A: BITADIVTISAREHE-(1-BLE) < HRE 12.44 BADIUTISAREHE 10.44
B: EJCIAEEEAEEM (Fitk) 5.00 JRE 7.7%
C: EBmmEAEEALERM (k) 13.00 RER 110%
D: BEZE 70%
@) REflEeBa1BEE 1.10]F4/kWh

LE




mEEAIV7ZERE] gremz
NJa—TSODEESE
20254 9H% WMEEEFHREBEMOBIHLE BRI LRINT—

TRILEAOSBEREBY . EHEALALETET,
BHOBRHSCEFNIMHBSHEREE, TROBYSMSELET,

KA, B XERICLBIESIE (EEDHFIFIIFHIA2.4M/kWh) A8 & FRE B, S
[E5IET 2D TIEILL HEBICTESIZZTHETWEEET,

anj
cu

M BEERBEE=)RNEAREE+QBE L=/ —Y /LY —ERRBEM+QHNE HRBEM

+AOBFERHEREE= BN 15kWhET FiiA -67.01 M
Eest Bisa -6.09 M/kWh
(1) WR¥4 2 BRI 22 B i = (SE 99 #HEI#E —80,000M) x E#EH{fi -~ 1,000 = BHDTKWhET -79.11|M
202544 A ~202546 A ¥ D H S EHEE EELs ~7.19]/kWh
A: 1kiBp =Y OF R im 68,774 M a: 0.0875
B: 1t =Y DFHLNGIEE 86,945 M B: 0.0770 ~11kWhE £ B {ffy 1.694 A
C: 1tH=Y DFH Mg 17,505 M 7 1.1770 12kWh~ £ 4 B iff 0.154 [

TR EMER = AXa +BXB +CXxy = 33300 M (100 RFEM@BAAN)

(2) B —/\—H LY —E R E i = (3 & F R EHIEHE —79,300M) x EAEBffi 1,000 = 0.00|F4/kWh

202554 H ~2025%6 A FH D B 5 sHmE

A: 1kIHT=Y O FE R hMEE 68,774 M o: 0.0000 HAEHR 0.000 M
B: 1tdHh1=UDEHLNGHE 86,945 M B: 0.0000
C: 1tH=YDEHRXME 17,505 H 7 0.0000

EHETHBE@fKR=AXxao +BxB8 +Cxryr=0H (100MRFEMEER A)

Q) HEHFEEM=A<BDIGFE. HENFAEEM=(A—B)XxDx(1+HEHRE) = 0.00|F4/kWh

A>COIBE . HEHARBEM=(A—C)XxDx(1+HERHRE) = 0.00| M /kWh

A: BIADIUTTSARAEHE-(1-18KE) x R 10.41 BADIUTISAREHE 8.70
B: EJCIAEEEAEEM (Fitk) 5.00 JRE 8.1%
C: EBmmEAEEALERM (k) 13.00 RER 110%
D: BEZE 70%

@) REflEeBa1BEE 1.10]F4/kWh

LE




AMWEATUTEE] gremz
N)21—TS5oDEESFE

20255 9A%y MHEEBEERBREMOFHMSE MRS LRIST—

TR OSBEREBY . EHEALRLETET,
B OBSHRITEETNAMHRSHREME, TROBYSMSLLET,

KT, B XIBICRAHIESIE (BEEDEFSEIIHIA24M/kWh) Z AN B ERBEM M5
E5I1ET 5D TEEL AMEBICTESIZZTHE TLVZEET,

ouji
cu

R BESHAREM=)RMBERAREM+QBEI=/\— )L —E BB EM+Q)HE H A B E

+OBRENHERIVEE = Fd 2.16|F:J/kWh
(1) $R% 2 SR B B il = (TP Ml A% — 27,400F) x E#EHiffi 1,000 = 1.09|F/kWh
202554 F ~202556 A F D E BifEHERE
A: 1kiBT=Y OF 1 RH 68,774 M a: 0.0053 EAEEH 0.136 M
B: 1tdh1=Y DFHILNGIEE 86,945 [ B: 0.1861
C: 1th=YDTHH xiftE 17,505 [ Y 1.0757

T REMER = Axa +BXfB8 +CXxy = 35400 H (100K FMIERAN)

(2) BES A= /\—H )L —E XA = (B S T 198l A& —79,300) x HEEHffi+1,000 = -0.03|/kWh
202554 F ~202556 A F DB BifEHESE
A: 1kiBp =Y OF R H i 68,774 M a: 1.0000 EAEEH 0.003 [
B: 1tdh1=Y DFHLNGIEE 86,945 M B: 0.0000
C: 1tHI=YDFEHYHRMHE 17,505 M 7! 0.0000

HMETHREER=AXa + Bx B + CxX ¥ = 68,800 M (100MKXFHEBEREAN)

Q) HENFBEM=A<BDHEE. HENFABEMH=(A—B)XDx(1+HEHREK) = 0.00JF4/kWh
A>CHIGE . NENFABEM=(A—C)XDX(1+HEHRE) = 0.00JF4/kWh
A: BTADIVTTSARAEHE-(1-48KE) < ARE 12.49 BADIYTTSAAEHIE 10.38
B: ZJCIfEEEAEBIE (Fiik) 5.00 |RER 8.6%
C: BANEREEEZE B ff (Fiik) 13.00 RER 110%
D: MEIE 70%
4) FENHEEIBE 1.10|H/kWh

Lk



